JoooogodoMTBrO O OO

gogn gooobooboooMTBrO O OO

godn gooboboboooggn

HEN .00/0

goon

goon goobobobbbdooooobobobbogoo
goobbobbbouodogg21s-215000d0
EEN

ERERERN 0755-23244807 18928486196

ot

MTBFO O OO DO0ODOODDO0ODOO" MeanTimeBetweenFailure” OO0 D O0D0D0O0OOOODOOO
gobobobboogoooo* oo bddogogoboobboooooobboobobobouoooad
gudoubobbboooouobobobbogoooubbbbooouobbbbouooobobbobon
Ooodboboooboobobooboobobooboobboo® oo™ O Failure rated O

MTBFU O O U

OMTBFO OO O,0000000DO00000D0DLOO0bO0O0D0DO0DOMTBF, OO (Exponential)td
O0o00oo0oooboobooooboobo.oboooMTBFODODOOOAODODO,0DO00D0DOAN OO
godoobobboogoogn

MTBF= Total Operating(Hrs)/Total Failures

gobbobbboogoogobooMmTeBr D O00ooooboooboogooooboboobobood
gobbobobobooooooobbobbbodoogoobbobbbooooobbbbboooog
gobbobbboooooobobobbooooooboboooogd

guduobbbtbggdguoobbboooouobbbboooouoboobobog

gobbobbbudgogobbobbbdoooooboboobboooooonobo



MTBFL O O [

O0O00oboOooee/Tsego7-198e 0 0000 b0 oboobooobuooog
gobobobobbooooooobbobbbodoogoob bbb bDbDbbbooUood
gobobobboooooobobobbooosgooonobooboooood

MTBFU O O O

gobobbboooooobobbbdoooooboobbboooooobboobobboooad
gobobobbooooooobbbbbdooooobobobbbooooooobobo

MTBF= [ O O O O Total Operating(Hrs)/CJ OO O O O Total Failures

MTBFO U O Ooouooonooog,ggof:

CHIINV (probability,degrees_freedom)X2(probability,degrees_freedom)

goooon:

T=0 O O Total Hours
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